LANMBJDS67

Installation Instructions

Lankota Monitor Bracket for John Deere S600 & S700 Series Combines

LANKOT

270 West Park Avenue
Huron, SD 57350
866-526-5682

Parts List [
Part Numbers Description Qty
LANMBIDS61 Combine Monitor Bracket Mount 1
LANMBIJDS62 Monitor Mount Plate 1
LANMBIJDS63 Bracket Spacer 3
LANFHMXCN 3/8” Nylon Wing Knob 1
LAN18A 3/8” x 1” Carriage Bolt 1
LANFB310 3/8” x 2.5” Gr 5 Hex Bolt 1
LAN18000 3/8” Flat Washer 3
LAN1618000 3/8” Nyloc Nut 1
LANFHN2KK M6 x 35mm Flange Bolt 3

LANMBJDS61 (1) LANMBJDS62 (1) LANMBJDS63 (3) LANFHMXCN (1) LAN18A(1)
Q £
LANFB310 (1) LAN18000 (3) LAN1618000 (1) LANFHN2KK (3)
Page | 1 9/8/2020 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.

Lankota is a registered trademark of Lankota Group.



Kit Installation

r 2

Refer to Figures
1. Remove the three of the four screws (shown) holding the radio cover to the ceiling of the cab.
2. Insert an M6 x 35 bolt through the middle hole of the bracket mount (LANMBJDS61), slide a spacer
(LANMBJDS63) over the bolt and then thread it into the newly exposed hole.
3. Repeat for other two holes and tighten all bolts.
4. Attach the monitor mount (LANMBJDS62) to the bracket mount with the provided hardware.
e The 2.5” bolt, nyloc nut and (1) washer form the hinge. Leave slightly loose.
e The carriage bolt, wing nut and (2) washers clamp the monitor mount in place.

.

=

r )
For further technical assistance,
Call Lankota Inc. at:

1-866-526-5682
N o

- 9/8/2020 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.




